H & 0l & AHS B Ml A

20248 =0ila eI S
A SAITHAE D
B DREHUH(REUNAWL/ N HLEA)
Rl oDEEHAIE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
AL TH24 10 10,260,890 12,606,544 A2,345,654
= 415,000
[ 3,083,000
= 520,500
Al 6,242,390
NEA L (SELXENL/XNSLEZAl) 10,217,130 12,555,144 N2,338,014
= 415,000
[ 3,083,000
= 520,500
Al 6,198,630
oL AL 476,200 754,144 N277,944
= 280,000
[ 36,000
Al 160,200
DELHANY 29 25,200 28,144 A2,944
201 er2 3| 12,200 15,144 A2,944
01 At2t2lt] 7,400 9,144 A1,744
oget=ZH| 2,400,000& 2,400
(CF=E 5,000,000& 5,000
02 S3=gHl 4,800 6,000 1,200
OZEISAMHEINLEAIG AE=2cl 52
= 4,800,000 4,800
202 04| 10,000 10,000
01 SLHoIH 10,000 10,000
OZ2E&0H 10,000,000 10,000
203 HE=H] 3,000 3,000
03 A= PR FAIH| 3,000 3,000
ONAPHLHAIY P2ET
3,000,000 3,000
ANz gdst 446,200 420,000 26,200
[ 280,000
= 36,000
Al 130,200
101 @12A4H| 100,000 0 100,000
[ 63,000
= 8,100
Al 28,900
M IIRINZENSES 100,000 0 100,000
OAlZASYBIAI (QI24H])
2,500,000 x3E* 122 90,000
[ 63,000
== 8,100
Al 18,900




NS o e (S ELXHN LEAl)
DELMAIY SERESEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OBANAEH 2 (0l2Ab])-Fte
833,300 «1H* 123 10,000
201 er2 3| 13,320 13,320
03 A= I 13,320 13,320
OY=EsEUSI| STHAE MRS
13,320,000& 13,320
207 AR 20,000 20,000
NEEEET 20,000 20,000
OH=EE0IS)| BEAE ALE B
20,000,000 20,000
301 EtE N = 2,880 2,880
11 #AIMHIXIZE = 2,880 2,880
OYSsEUS)| SHAE ALAH|
2,880,000 2,880
307 21201 & 310,000 400,000 /90,000
[ 217,000
= 27,900
Al 65,100
05 2I2tRIE S 310,000 400,000 A90,000
OATZTSEZ A 310,000,000 310,000
[ 217,000
= 27,900
Al 65,100
SZAE AZ2el 4,800 306,000 /301,200
201 fet=23y| 4,800 6,000 1,200
01 AtR2te|HI 4,800 6,000 1,200
OZ32AtY EOHtE S M
4,800,000 4,800
AITH 24 4,217,000 4,830,000 A\613,000
SATHEAS (FAXIKIRE, THHITHR) 3,500,000 2,900,000 600,000
401 AlEHIZL SO 3,500,000 2,900,000 600,000
01 Al&H| 3,500,000 2,900,000 600,000
ouZ=g TAIMMA
3,500,000,000& 3,500,000
A =EAE 82 Y 350,000 250,000 100,000
401 AIEHIX 20HH 360,000 250,000 100,000
01 A28l 350,000 250,000 100,000
OFAINY M = 2 .2%2)
150,000,000& 150,000
OZAITHA B2 A = 4 oAl
200,000,000 200,000
SAITHE Ald 29 367,000 0 367,000
101 @124H| 252,000 252,000
MU IIRIMZZENSES 252,000 252,000




A SAITHAE D
Hr: DEHUH(REUNAWL/ N HLEA)
Chel: SAITHA EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O AMEXNHHE XA 12|
3,500,000 6 * 12& 252,000
201 er2 3| 115,000 115,000
02 S3=gHl 115,000 115,000
OEAITHY SSO0IEAE 2322
35,000,000& 35,000
OZAITHY SS0IBAIE AIERXI22IHI(15
H4) 80,000,000 80,000
SEHL 5,496,730 5,862,000 A365,270
= 415,000
= 2,803,000
= 484,500
Al 1,794,230
LULS MO ENEAIS AIESE 22 135,000 80,000 55,000
201 fer= 3| 15,000 0 15,000
01 At 2|l 15,000 0 15,000
OeHsMOENLAY AlES 2l (272
=i ) 15,000,000 15,000
401 Al HIZL 201 120,000 80,000 40,000
01 AlZHI 120,000 80,000 40,000
OLESAHENZAIY AIES 22
70,000,000& 70,000
OZLEIsMHEINEAIG A= 243 Yot
-5 50,000,000& 50,000
AgSaXEYstdEH 2 62,680 0 62,680
101 e124d| 31,200 31,200
M ORNZZ2NSE S 31,200 31,200
OAgSAXZESHE JI2tH 22X 1A
Bl 2,600,000« 1& 12 31,200
201 Ler23| 25,600 25,600
01 At2teltl 13,600 13,600
OdH =29 € =8Hl S
13,600,000 13,600
02 S3=gHl 12,000 0 12,000
OdlH 22|l 352= S
1,000,000& ~12& 12,000
301 EtE NS 2,880 2,880
14 IIEt2 8= 2,880 2,880
OHIE 2tcl SALL 8Hl S
2,880,000& 2,880
802 grat=JIEt 3,000 3,000
03 JIEtEtEtS S 3,000 3,000
OdlH 0182 ttets S 3,000,000 3,000
STNEHSHAAEY 2,174,000 2,194,000 220,000
[ 1,470,000




2A:
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ool

S AIRH 41t

NADHLM (S ELR ALY

‘_—EKJHUF

o

/KISLEAL)

bl

S - B

- SHRABA) - HRAY - BES

Ofl &F2H

MEE
Ofl &k2h

H

Al

189,000
515,000

101 e124d|

74,000

94,000

220,000

M IRINZZENSE

OdlEAFAC JI2tH 22Xt

o124
6,166,6002 « 122

74,000

74,000

94,000

A20,000

307 212+01&

SRR

=

827,000
578,900

74,430
173,670

850,000

A23,000

05 gizt2(& =

o4lgzopttol 24

143,000,000

SRR

=

SRR

=

827,000
143,000
100,100
12,870
30,030

684,000
478,800

61,560
143,640

800,000

27,000

401 AIEHIY 20

SRR

=

e

,123,000

786,100
101,070
235,830

1,000,000

123,000

01 A&l

oSt w=

|
OsE ME ZHAAY

OsE A&t ZAAY

1,119,000,000&

4,000,000&

SRR

=

SRR

=

—

—

,119,000

,119,000

783,300
100,710
234,990
4,000
4,000
2,800
360

840

993,700

6,300

125,300

A2,300

402 SIZERHE0| M

SRR

=

150,000
105,000
13,500
31,500

250,000

100,000

02 QIRZEAH= ALY

SAMLEE(0IEHE)
OHUEDE et MAXIHA(HMNS)

150,000, 0002 *1CH*100%

SRRE]]

150,000

150,000
105,000
13,500

250,000

100,000




A SAITHAE D
Hr: PHUH(REUNAWL/ N HLEA)
ol SENE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 31,500
SESH JZAENE M 1,704,000 1,030,000 674,000
[ 1,063,000
= 135,000
Al 516,000
201 er2 3| 3,000 0 3,000
[ 2,100
= 270
Al 630
01 At2teltl 3,000 0 3,000
OHBLGAY 29 &t =8H S
3,000,000 3,000
[ 2,100
= 270
Al 630
301 LEtE N = 24,000 0 24,000
[ 16,800
== 2,160
Al 5,040
14 IIEt2 83 24,000 0 24,000
oMY &38| S 24,000,000& 24,000
= 16,800
[ 2,160
Al 5,040
401 Al HIZ 2018 1,677,000 1,030,000 647,000
= 1,034,100
[ 132,570
Al 510,330
01 Al&HI 1,672,700 1,026,292 646,408
O=SY J|=dENE A
1,672,700,000& 1,672,700
= 1,030,318
S 132,223
Al 510,159
03 Al 20HHI 4,300 3,708 592
OB JIEZMEHETLAY
4,300,000& 4,300
= 3,782
< 347
Al 171
A Iz HE LA 400,000 0 400,000
= 280,000
[ 36,000
Al 84,000




ST AT
Hr: PHUH(REUNAWL/ N HLEA)
2 SENE (el @e)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 400,000 0 400,000
= 280,000
== 36,000
Al 84,000
01 Al&HI 397,120 0 397,120
O JIZMEIHET LA
397,120,000 397,120
= 277,984
== 35,741
Al 83,39%
03 Al 20HHI 2,880 0 2,880
OAtgd JIZdENE A
2,880,000& 2,880
= 2,016
< 259
Al 605
sSES2EHIAIE 867,650 0 867,650
= 415,000
< 124,500
Al 328,150
401 Al HIZL S 0HYI 867,650 0 867,650
= 415,000
=S 124,500
Al 328,150
01 AlZ8| 861,403 0 861,403
sSE32UFHIAG (BRI F)
861,403,000 861,403
= 412,012
=S 123,604
Al 325,787
03 A& S CHYI 6,247 0 6,247
SESUTHIA (A XIF)
6.,247,000& 6,247
= 2,988
== 8%
Al 2,363
sE g 53,400 58,000 4,600
101 @124H| 45,000 48,000 23,000
M JIZtHZ2 S E 45,000 48,000 /3,000
OSANAEA 2Y
2,500,000& «2H 93 45,000
201 fer23y| 7,400 9,000 1,600
01 AtR2t2|HI 4,000 5,000 A1,000
OSUHNAXA 24| 4,000,000 4,000
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- & - SI(E) - NIRAY - BAS A HIDE2
02 S22l 1,600 2,000 A400
OBUHANAXEZE 2R3 1,600,000 1,600
03 A2 I 1,800 2,000 A200
oXNdAgdst MY 2 1,800,000 1,800
301 2N = 1,000 1,000
11 EAAHIXIES 1,000 1,000
OXgaegdst AL &I 24
1,000,000& 1,000
SC DISYSIIAIS (M EALY) 50,000 0 50,000
401 Al HIZL 01| 50,000 50,000
01 A=l 49,640 49,640
o=t 0t=e=)| 49,640,000& 49,640
03 Al =2 THHI 360 0 360
o=t == 360,000 360
24&22] OIS SIS (R EALY) 50,000 0 50,000
401 AIEHIZ SR THYI 50,000 50,000
01 AlZHI 49,640 49,640
O=42c| 0= 49,640,000 49,640
03 A& CHYI 360 0 360
O=x=A2cl 0ISSD| 360,000 360
S3A=E A2t 27,200 1,109,000 /1,081,800
S3AUS A2l 7,200 9,000 21,800
201 L2 7,200 9,000 21,800
01 AFR2t2ltl 7,200 9,000 1,800
OBTARI} Y BIALHAE 2Y
4,800,000& 4,800
OBTASAIAE A/ &L
2,400,000& 2,400
& 2e 28t Jel szl 20,000 1,100,000 ,080,000
401 Al HIZL 201 20,000 1,100,000 ,080,000
01 A=l 20,000 1,100,000 ,080,000
OX8E, Hal, &2 RAEs & JIEISA
20,000,000& 20,000
HYSHIHI (AW D) (O1EHDIE) 43,760 51,400 A7,640
JlI=23Hl 43,760 51,400 AT,640
JI=2ZHl 43,760 51,400 AT,640
201 er23 | 5,600 7,000 21,400
01 AtR2te|b] 5,600 7,000 1,400
Oer2d| 5,600,000 5,600
202 OH| 34,560 40,800 AB,240
01 =LHOHI 34,560 40,800 A6,240
OZUHEE 0 34,560,000 34,560
203 BR8] 3,600 3,600 0




2A:

S AIRH A4 D

KM HNSAAH|(ZAI KAL) (DIEHIIEH
o2 J|I=2&l (St &)
- _ olE|
SA - B S(BH) - MISAY - BAS Ofl kot OE”E& HR=2
04 EASHAL2FKIH] 3,600 3,600 0
ORANSIHARFEIH 300,000« 12! 3,600




